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ECONOMICS
( Major )

Paper : 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
oS firdl 2PPTgRd Ted fordi -

faj Give the full form of NITI Aayog.
NS SCIsE ST 91 6 2

(b) Mention one basic objective of the
Twelfth Five-Year Plan of India.

P ARAET ARFEIR 96 A9 S
@y 79
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(c)

(@)

(e)

(9)
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(2)

What is the female literacy rate of
Assam as per 2011 Census?

3055 B CIFPRE WP SPE qiZeE
ST 29 9 2

What do you mean by sex ratio?

feRal e Jferca o o 2

What is the population of Assam
according to 2011 Census?

3055 BE CEIFPEE WS P SePRAE
21 {91 2

What do you mean by globalization?

comerpIeae Jfece 6 ge 2

Which Plan accepted the strategy of
inclusive growth for the first time?

@ AR AR A HES Sl
(T 239 11 C2fed 2

{ Continued )

2. Answer the following questions :

(3)

weTe il enpTes e foe

(@)

(b)

(c)

(@)

A9 /789

Mention two major failures of the
Twelfth Five-Year Plan.

e AL ARTEAR GOl Ay [ EeTes
P TeEy 90

Mention two adverse effects of Jhum
cultivation.

I PRI YOI SACTE TeEY F90

What are the two main objectives of
the Prime Minister’s Jan Dhan
Yojana?

YU S (S GO A4 ST
ey 4 |

What do you mean by inclusive
growth?

A SeEe Jferce 1 @ 2

{ Turn Qver )

2x4=8




(4)

3. Answer any three of the following

questions :

oS fir eppred & e fofr Ted ford

(a)

(b)

(c)

(d)
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What are the main objectives of
decentralized planning in India?

cede  feEpe  ARemAE gum
e TR, 6 6 2

What is the structure of NITI Aayog?

S SEmeE SR @egEeT 2

Give an idea of the growth rate of per
capita income of the Northeastern
States.

e~ PRI Sy oI s 29
S b1 qraen |

Discuss the impacts of globalization
in Indian economy.

e wAfoT  (IERTINR  ASPHR
ST 1 |

( Continued )

9%3=15

(S)

(e) Distinguish between Foreign direct
investment and Foreign portfolio
investment.

dgorF e Rice we SR
S CIREREIEreIRER I COR REORERIN

(/' Why  were  economic  reforms
introduced in India?

Sws 5 YT TR TS T4 (2w ?

4. Answer the following questions : 10x3=30

oTs fam 2praeT e fery

(a) Discuss the main causes of slow
growth of industry in Northeastern
States.

CFTCRNAI CRIAIS Y25 FIRACII S 1
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(6)

Or / w3y

(b) Give a com

parati ;
development Ive analysis of the

experi

i | €nces of

% eastern Stateg in re b
man development "

: mm :
trade policy of Ingjs baég of foreign

economic reforms re and after

CCHfARe WWWW
W%L‘Jﬁwwwﬁ?ﬂf
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(7)

(c) What is shifting cultivation? What
are the problems related to shifting
cultivation? Explain.

f[:ﬂ@f%w ¢fs =9 o3& G 1) T
TeTER & 2 e 40

Or / =991

Do you think India’s Five-Year Plans
are able to achieve the targets? Give
reasons for your answer.

SRy Awafe  ofReErER e
e Tole 29 AR @ B ST ?
(oI T AT P TOfl |

# %k
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